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3003

B. Tech. 1st Semester (CSE)
Examination — March, 2021

SEMICONDUCTOR PHYSICS
Paper : BSC-PHY-103-G

Time : Three Hours | [ Maximum Marks : 75

Before answering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No complaint mn
this reqard, will be entertained after examination.

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

1. Attemptany six parts : 25x6=15
(i) What are main drawbacks of classical free electron

theory ?

(ii) When does an intrinsic s/c behave as an insulator ?

Fixplain giving examples of intrinsic s /c.
(iii) What is meant by density of states in metals ?

(iv) Define stimulated and spontaneous emission.
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